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No calculators. 31 pts. Leave answers in factorial, exponent, or “choose” form.

1. An ATM code consists of 4 digits, (0 - 9 are possible. It MAY start with 0, and repetition
is allowed). [2 each]

a) How many different ATM codes are possible? M \(D c@es'-
4 o4
b) How many ATM codes contain at least 1 “6"7 10 ‘\‘1 codes |
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2. DJ Dexxter has a record collection of 80 Jazz records and 30 Bollywood records. [2 each]

a) If he chooses three records at random, what is the probability they are all Bollywood?

b) If he chooses three at random, w at is the probability that exactly 1is a Bollywood
record and exactly 2 are jazz?

c) Ifhe randomly arranged the 110 records, what is the probability that all of the
Bollywood records are next to one another?

3. Coach K wants to split his 10 basketball players mto two teams of 5. Intultlvely he _
thinks that there are “10 Choose 5” ways of doing this. Unfortunately he is wrong. Explain

the error in his thinking. [2] Ler Vs call  Ywe 10\7 g gl 38
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. @) How many ways are there to pick the 9 players to start the game

4. My son’s baseball team has 12 players onit. [2each] -~ “ﬂ

i

b) Once the starters have been selected, how many ways are there

row? C‘ ‘-

201 %90

¢) During the post-game speech, all 12 form a circle. How many wa
such that Liam and his twin Luke ARE NOT next to each other?

okl wuygs WY
Liam 3 LR = o), 2
anSWRY ¢ - 290, '8 (ll—'l) lo‘,

5: The new G-pop band “Lederhosen” is giving away stickers at their cbm
different stickers and they are all free! Hans insists on bringing home at |
stickers. How many ways are there for him to do so? [2]
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6. Below is a Venn Diagram for the probabilities of two events, A and %’

aPa)=_0.5

b.PB°)= 10, &

panBy=_0.05

.05

c. Are A and B mutually exclusive? No Why? bQ cavse { AW,
mEeon Tng  both A o
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d. Are A and B independent? AL Why? _bE€ ey 2@ Pl A)
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e. State the union rule, and show numerically that it is satisfied in this case. A

P(AUB) = {10 if A\} 1 ? (.B\)" ?[F"« ”B)(use letters here) 3

0. 1% =0.5%0.b=015 (us nixmbers;‘ﬁ"'




